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General Instructions:  

1.  There are 10 questions in the question paper.  All questions are compulsory. 
 

Qn.  
No 

 Marks  
allocated 

                                 

                               SECTION A 

 

1 Shreyash was thinking about his future if the conventional 
energy sources will no longer exist then from where will he get 

the fuel. Which of the following is the conventional source of 
energy? 

 
A) Fossil fuel                                  B) coal 

C) natural gas                                C) None of the above 
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2 Match the column and choose the right option.  

 
Column-1                                           column-2  

a) Ferrous                                          i) platinum 

b) Non ferrous                                   ii) iron ore  
c) Precious                                        iii) bauxite  

d) Non metallic                                  iv) granite 
 

 
Options:  

A) a-i, b-ii, c-iii, d-iv  
B) a-ii, b-iii, c-i, d-iv 

C) a-ii, b-iv, c-i, d-iii  
D) a-i, b-ii, c-iv, d-iii 

1 

3 ____ belt lies in Chhattisgarh and Maharashtra. 

 
 A) Durg- Bastar- Chandrapur    B) Koderma- Gaya -Hazaribagh 

 C) Odisha - Jharkhand              D) Bellary- Chitradurga-         
                                                       Chikkamagalloore belt. 
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4  When we speak of gender divisions, we usually refer to: 

 a) Biological differences between men and women. 

 b) Unequal roles assigned by society to men and women.  
 c)  Unequal child sex ratio. 

 d) Absence of voting rights for women in democracies. 

1 

Date: 04 /11/24                  MONTHLY TEST -03 (2024-25)                           Max marks: 20 
GRADE: X                                 SOCIAL SCIENCE                                     Time:  50 
,MMINMMINmMMIMIminutes 
 

 



X_SOCIAL SCIENCE_MONTHLY TEST 3_QUESTION PAPER 

 
 

 

5 DIRECTION : Mark the option which is most suitable: 
 

 Assertion (A): women are discriminated against or 
disadvantaged in India. 

 Reason (R) : They are not provided adequate education.  
Thus, the literacy rate among women is just 54%. 

 
 (a)Both Assertion and Reason is true and Reason is the correct 

explanation of Assertion  
(b)Both Assertion and Reason is true and Reason is not the 

correct explanation of Assertion  

(c)Assertion is true but Reason is false.  
(d)Assertion is false but Reason is true. 
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                                      SECTION B  

6 Do you think that political leaders are right to treat people 

belonging to a caste as ‘vote banks’? 

2 

7 “Minerals are an indispensable part of our lives.” Support the 

statement with two examples. 
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                                        SECTION - C  

8 Elaborate with examples how Women face disadvantage, 
discrimination and oppression in various ways? 

3 

                                         SECTION -D  

9 Energy is required for all activities. It is needed to cook, to 

provide light and heat, to propel vehicles and to drive 
machinery in industries. Energy can be generated from fuel 

minerals like coal, petroleum, natural gas, uranium and from 
electricity. Energy resources can be classified as conventional 

and non-conventional sources. Conventional sources include: 
firewood, cattle dung cake, coal, petroleum, natural gas and 

electricity (both hydel and thermal). Non-conventional sources 
include solar, wind, tidal, geothermal, biogas and atomic 

energy. Firewood and cattle dung cake are most common in 

rural India. According to one estimate more than 70 percent 
energy requirement in rural households is met by these two; 

continuation of these is increasingly becoming difficult due to 
decreasing forest area. Moreover, using dung cake too is being 

discouraged because it consumes most valuable manure which 
could be used in agriculture. 

 
(i) What at conventional sources of energy? Give two examples. 

(ii) Explain two disadvantages of using coal as a source of 
energy?  
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10 Labelling and Locating 
Identify these places with the help of following information. 

1. Thermal power plant situated in Telangana  
2. Nuclear power plant situated in Maharashtra  

3. Nuclear power plant situated in Uttar Pradesh.  
4. Thermal power plant situated in Telangana  

5. Nuclear power plant situated in Maharashtra 

5 
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                                                 END 

 

 

 

 


